DEVELOPMENT ECONOMICS

Annotated Outline

Session 14: THE ROLE OF GOVERNMENT

I. ALLOCATION OF RESOURCES BETWEEN GOVERNMENT AND PRIVATE USE

A. Benefits and costs of policies (government spending) [Marlow-Public Finance 1996, pp4ff]

1. Benefits: Per-capita spending of governments [T1-1] 

2. Costs: Everyone pays for policies [T1-2]

B. Private vs. Public markets

1. Production possibilities: tradeoff between government goods and services and private goods and services. [Fig. 1.1, p. 6]

2. We view the opportunity cost of allocating resources between government and private use from the perspective of the value of the private goods and services foregone when resources are allocated to the public sector.

3. Government represents an additional resource-using body in the conventional circular flow model [Fig. 1.2, p. 9], participating in markets as the buyer and seller of goods and services.

4. Government goods and services are distributed to groups of individuals through the use of nonmarket rationing: i.e., government goods and services are not made available to persons according to their willingness to pay and their use is not rationed by prices.

a) Services are available to all free of charge: national defense

b) Services available to people based on some criteria: social security pensions, public transportation, education.

5. In public finance, we study how the means of rationing the use of government goods and services and financing their resource costs affect incentives, resource use, and production possibilities.

II. MARKET EFFICIENCY AND MARKET FAILURE

A. THE EFFICIENCY CRITERION

1. Definition of efficiency criterion

a) Efficiency is a normative criterion for evaluating the effects of resource use on the well-being of individuals.

b) The efficiency criterion is satisfied when resources are used over any given period of time in such a way as to make it impossible to increase the well-being of any one person without reducing the well-being of any other person.  It is called the criterion of Pareto optimality, after the Italian economist Vilfredo Pareto (1848-1923).

c) Examples.  

(1) Assume that the well-being (u) of any individual increases with the amount of goods and services (x) that he consumes per year.

d) 

  


(1) Avoiding waste in production will help achieve efficiency:  Given available amounts of productive resources and the existing state of technology, elimination of wasted effort will allow more production from available resources.  The extra production will make possible for some persons to consume more without reducing the amounts consumed by others.  It is possible to make someone better off without harming anyone else by avoiding waste in production.

(2) Freedom for trading also increases well-being of individuals.

(3) Progress in technology is another example.

e) The criterion of efficiency is based on an underlying value judgment that individuals should be allowed to pursue their self-interest as they see fit, provided that no one is harmed in the process.

2. Marginal conditions for efficiency

a) Total social benefit: Any given quantity of an economic good available for a specific period (a month) will provide a certain amount of satisfaction to those who consume it.

b) Marginal social benefit of a good: the extra benefit obtained by making one more unit of that good available (per month).  It can be measured as the maximum amount of money that would be given up by persons to obtain the extra unit of the good.

c) Total social cost of a good: the value of all resources necessary to make a given amount of the good available per month.

d) Marginal social cost of a good: the minimum sum of money that is required to compensate the owners of inputs used in producing the good for making an extra unit of the good available.  It is assumed that output is produced at minimum possible cost, given available technology.

e) Fig 2.1A: marginal social benefit (MSB) and marginal social cost (MSC).

f) Fig. 2.1B: total social benefit (TSB) and total social cost (TSC). 

g) 

;    

; MSB = MSC is the condition for efficient resource allocation.

B. MARKETS, PRICES, AND EFFICIENCY CONDITIONS

1. Perfectly competitive market

a) When MSB=MSC, the resource allocation in an economy is efficient.  A system of perfectly competitive markets can result in efficient resource use in an economy.

b) Conditions for perfectly competitive markets:

(1) Privately owned resources

(2) Standard products

(3) Price is determined jointly

(4) Free information

(5) Freely mobile resources

c) Equilibrium conditions

(1) Buyers P = MPB [marginal private benefits] = MSB

(2) Producers P = MPC [marginal private cost of output] = MSC

(3) For any buyer (consumer) and producer, in perfectly competitive markets where both buyers and sellers maximize their net gains from trade:  P = MPB = MPC = MSB = MSC

C. When does market interaction fail to achieve efficiency?

1. Competitive markets will fail to achieve efficiency when prices do not fully reflect MSC or MSC.  

a) This often occurs because of the nature of certain goods, which makes them difficult to package and trade easily in markets.  Examples: 

(1) environmental resources such as air and water.

(2) services with collective or shared benefits such as national defense and environmental protection.

b) It also occurs in the presence of market power such as monopoly.

2. Monopoly power

a) Monopolist maximizes profits at MR [marginal revenue] = MPC [marginal private cost]  (Fig. 2.2)  Demand curve is MSB.  Loss in net benefits = area ABE

b) Efficiency could be attained by forcing the monopolist to increase output until P = MSC =MSB (point E).

c) Government intervention in the market to increase output to point E would be prescribed by normative economists seeking to attain efficiency.

3. How taxes can cause losses in efficiency in competitive markets?

a) Although government intervention in the market can be used to restore efficiency (C.3 above), government intervention often introduces its own distortions which may prevent attainment of efficiency.  For example, taxes and subsidies can affect economic incentives and cause losses in net benefits.

b) When a product is taxed, the amount that is traded is influenced by the tax paid per unit and MSB, MSC of the product.  The tax distorts the decisions of market participants.  Examples: 

(1) income tax affect the decision of tax payer about the trade off between work and leisure time.

(2) Long-distance telephone services (Fig. 2.3)

(a) Without tax, equilibrium point E, where Supply = MSC = MPC = demand = MSB efficient. Price = 5 cents per message.

(b) Tax = 2 cents.  New supply = MPC + T.  New equilibrium is at point 

.  MSC= 4 cents.  MSB = 6 cents. Tax revenue = 2 cents X 3 billion messages = $0.06 billion

(c) Loss in net benefits = excess burden of the tax = area

. Total cost of tax = $0.06 billion + 

.

4. How government subsidies can cause losses in efficiency?

a) Governments often subsidize private enterprises or operate their own enteprises at a loss using taxpayer funds to make up the difference.

b) Example: Farm products subsidies.  The government guarantees farmers a certain price for their crops.  When p< target price, the government will subsidize the difference (p-target price).  Fig. 2.4

D. Market failure: a preview of the basis for government activity

1. We cannot rely on markets to provide all goods in efficient amounts.  Market failure to make G&Ss available in cases for which MSB>MSC often results in demand for government’s action.  Examples of market failure:

2. Exercise of monopoly power in markets.  Monopolist can adjust prices to the point of profit maximization MR=MC.  To prevent monopoly control over price, governments (a) watch over markets to ensure that barrier to entry do not act to encourage  the exercise of monopoly power; (b) regulate pricing policies (e.g., utilities companies).

3. Effects of market transactions on third parties other than buyers and sellers when market transactions result in damaging effects on third parties who do not participate in the decision, the result will be inefficiency.  This lead to demand for government policies to reduce the damaging effects of market transactions on third parties.  Examples: exhaust fumes from cars, trucks, buses, etc. decrease air quality and impair public health.

4. Lack of market for a good with MSB>MSC.  Useful G&Ss cannot be provided efficiently through markets because it is impossible or difficult to sell the good by the unit and the benefits of such goods can be shared only.  These goods are called “public” goods.  Two characteristics:  

a) Non rival in consumption.  The public goods can be enjoyed by additional consumers at no reduction in benefits to existing consumers.  Examples: national defense, law and order.

b) Non exclusion.  The benefits cannot be easily withheld from persons who choose not to contribute to their finance.  Example:  national defense – your contribution is not required.

c) In many cases government provision of goods  is justified because of a conviction that MSB>MSC if the goods were supplied through markets.  Examples: health insurance, deposit insurance, flood insurance – are useful services that cannot be provided profitably in efficient amount by profit-maximizing firms selling in competitive markets.  Higher education – governments should encourage education because MSB of its consumption >MPB received by individual students.

5. Incomplete information.  Rely on government intervene because of incomplete information about risks of buying certain products or working in certain occupations.  Examples: test new drugs, prevent selling hazardous products, establish standards for safety in the work place.

6. Economic stabilization.  Due to market imperfections, economic policies – monetary & fiscal, etc. - to stabilize economy, control inflation; discussed in macroeconomics.  Modern public finance: microeconomics.

7. In addition to efficiency, many people argue for equity as another criterion.  Determinations of the impact of alternative policies on the distribution of well-being among citizens.  Examples: policy impact on the poor, aged, or children.  Positive economics: effects of policies on income distribution.

III. MARKET FAILURE AND THE FUNCTION OF GOVERNMENT

A. Government can provide us with items that we cannot easily make available for ourselves or purchase from others in markets.  Important functions of government include establishing property rights and enforcing contracts, redistributing income and economic opportunity among citizens, stabilization of economic fluctuations, regulation to maintain competition and health/safety, and provision of goods and services which are underproduced by the market.

1. Functions of the public sector [Marlow pp.13ff]

a) Protection.  Safeguards the personal property and rights of individuals.  Police, military, and courts.

b) Allocation.  Public spending on highway construction, defense spending, medical research, etc., shifting resources to “preferred areas.”  

(1) Free-riders: occurs when some individuals are able to avoid paying for goods they consume (e.g., national defense).

(2) Negative externalities: whenever the private does not assign appropriate values on economic resources (e.g., clean air and water are often resources that private markets undervalue.)

c) Distribution.  Provides equitable income distribution.

d) Stabilization.  Monetary & fiscal policies.

B. Social compact: the willing submission of individuals to the authority of government. 

C. The growth in government spending since 1929 reflects increased demands for government services that markets fail to provide.  Social security, unemployment insurance, and health insurance for the needy, and national defense are examples.

D. But how much should government do, and how much should be left to private enterprise and initiative through market sale of goods and services?  

a) Large government: policy makers should base their policies on paternalism – is a characterization of a belief that policies should be provided that would not necessarily be freely chosen by voters.  (家長主義)

b) Small government: government failure – public policies result in resource allocations that are more inefficient or inequitable than when those resources are organized by the private sector.

IV. ROLE OF THE PUBLIC SECTOR

A. Six areas in which cases may be made that the public sector improves the well-being of individuals in society. [Marlow, pp.59]

1. Externalities

2. Public goods

3. Allocative efficiency and monopoly.  Private competitive markets P=MC; monopolists, MR=MC, with higher prices and less quantities.  Antitrust laws and regulations to make P=MC.

4. Imperfect information and resource allocation.  Imperfect information results in consumer behavior that would differ if they were more fully informed (e.g., impact of pesticides)

5. Equity goals of society.  Private competitive markets can only achieve efficiency.

6. Stabilization policies.  Private markets are inherently unstable.  

7. Policy coordination & choice of economic system [Hess & Ross, Economic Development, pp.162]

B. Role of government: central vs. local

1. Fiscal roles: Sizes of the government, tax revenue/GDP

2. Central government: Distribution policy and stabilization policy.  National security; higher education; social security; health insurance

3. Local governments: Allocative ploicy.  Primary education; community development; social services and income maintenance

4. Central-local fiscal relationships: separate tax office & rule-based collection

C. Lessons [WB internal draft document] -New trends

1. The state and its policies explain many differences in people’s lives around the globe.  It is not the size of the state alone that matters, it is the capability.

2. The great (and false) debate between state and market for now seems to be over.  There is growing realization that a more credible, not larger state is needed to create the institutional infrastructure necessary for markets to flourish.

3. All over the globe citizens are demanding greater transparency and openness in the conduct of government, leaner government that delivers services, but also one that effectively mediates competing interests.

4. Globalization is making governments generally more responsive and less capricious in their economic actions.  Handling 21st century problems will require a more agile, information-intensive state working in concert with the international community not a weak state subordinated to international interests.

5. Reforms are under way beginning with reducing the size of the state and moving toward strengthening vital state functions and in some cases requiring reconstruction of the state.  Introducing greater economic contestability is a key to making state institutions work better.

6. Changes in technology, better appreciation of the capacity of markets and nongovernment organizations (NGOs), greater decentralization to local government and communities, reforms in public sector management all these have created new opportunities for more competitive and efficient provision of public services.

7. More effective international cooperation will be needed to help nations manage global challenges and take advantage of the emerging opportunities in the 21st century as the demand for international collective action grows. 

V. GOVERNMENT MANAGEMENT

A. Running government like a business

1. Should the government could be run like a business?

a) Yes: In a sense to improve efficiency and cleanliness of the governments [Singapore]

b) No

(1) Governments do not sell products for a profit.  No signals on how well their services.

(2) Governments do not face competition because of the nature of their products

(3) Governments chose projects through political process rather than efficient allocation of resources

c) Hong Kong and Singapore [IMD global competitive results]

2. Difficult to measure outputs or results of government investments; require cost-benefit analysis

B. Raising competitiveness: effectiveness vs. efficiency

C. Highly effective government officials

1. Paradigm shift [3 figures]

2. Proactive

3. Begin with the end in mind

4. Put first things first

5. Think win-win

6. Seek first to understand, then to be understood

7. Synergize

8. Sharpen the saw

VI. COST-BENEFIT ANALYSIS

A. Principles

1. The term cost-benefit analysis (CBA) in its most general sense, refers to the measurement of the net economic benefits from any change in resource allocation.  In the context of public finance, it most often refers to the calculation of net social benefits arising from a specific public expenditure such as a road, a bridge, an irrigation project, or a disease prevention program.  CBA also can apply to private sector projects if it is considered that the market profitability of a project is unlikely to reflect its social profitability; e.g., in economies in which market prices do not closely reflect marginal social values.  It is often used to evaluate industrial projects in developing countries for this reason. [Boadway/Wildasin 187]

2. Under competitive markets, profit maximization leads to an efficient allocation of resources.  The need for CBA arises when, for some reason, we cannot rely on profitability to reflect as accurately as we would like the net social benefits of a project.  A number of reasons why market profitability may not reflect social profitability [ditto 188-189]:

a) Some benefits and costs from a project do not have market prices.  Some benefits are of a public good or external nature such as expenditures on immunization or on education.  Other examples are of intangibles which are benefits accrue directly to the users of the project and which do not have market prices, such as benefits of time saved on transport projects.

b) Even when market prices exist for outputs and inputs, these prices may not accurately reflect MSB and MSC.  Examples: tax distortions, quotas, or regulations; inputs are purchased from monopoly suppliers.  CBA can use shadow prices to calculate a set of prices which reflect true marginal benefits or costs.

c) When a project has increasing returns-to-scale [IRTS].  IRTS projects which price outputs at MC will always show negative profits because MC<AC, but their total benefits will exceed their total costs.  In such cases, the market profitability criterion breaks down.  

d) CBA may have to choose tow mutually exclusive projects; e.g., the choice of building an urban expressway or a subway.  The relative profitabilities of the two projects may not reflect their relative net social benefits since the consumer surplus generated by them may differ.

e) A set of problems that arises when intertemporal considerations are taken into account.  The market interest rate used in calculating the present value of profits may not reflect the true intertemporal discount rate for the society.  Distortions in the capital market, such as taxes on capital income.

3. CBA is a practical technique for determining the relative merits of alternative government projects over time.  CBA to make sure new projects‘ MSB>MSC.  Since 1981, originated by the Reagon administration, all new regulations proposed by the Federal government must be subjected to CBA.

B. CBA: 3 steps

1. First step: Enumerating [列舉] benefits and costs

a) To define both the project under consideration and its output; enumerate the costs and benefits over the project life.

b) Benefits: 

(1) Direct benefits: those increases in output or productivity attributable to the purpose of the project.  Example: irrigation project‘s direct benefits are net increase in agricultural output on the tract of land being irrigated.

(2) Indirect, or spillover benefits:  those accruing to individuals not directly associated with the purpose of the project.  Example on the irrigation project: improved fertility  of adjoining land that is not actually irrigated by the scheme, resulting from changes in the height of the water table in the area.

(3) Only real increases in output and welfare are considered.  Common errors in measuring benefits:

(a) Double counting of benefits.  

(i) Example of the irrigation project: agricultural land prices are likely to increase due to the project.  But such an appreciation merely reflects the increased output potential of the land.  Counting the increase in land value and the increase in agricultural output results in double counting the benefits of the project.  

(ii) Another example: counting improvements in a local school and at the same time, higher property values that stem from improvements in the local school.  They tend to equal one another. [Marlow, 399]

(iii) Benefits associated with a new public park:  to the extent that benefits show up in higher property values for adjoining neighborhoods, these should be reflected in direct benefits associated with the new park. [Marlow, 399]

(b) Definition of indirect effects.  Extra profits of third parties not directly affected by a project should not be counted as a benefit. Example: Booming retailing in the area because of rising income due to the project.  In a full employment economy, it reflects shift of resources and income distribution and it is accompanied by a reduction of retail sales in other area.  This is also called Failure to distinguish between net benefits and net transfers. [Marlow 399].  An improved highway may be expected to lead to higher income to motel owners.  However, to some extent, higher income comes at the expense of travelers, who are charged higher rates and from other bypassed owners who now experience lower occupancy rates.  Transfers result when higher benefits are associated with higher costs for other parties and should not counted as improvements in net benefits; this effect is often called a pecuniary effect.

(c) Enumeration of benefits is difficult for some types of projects: education, health projects.

c) Costs: Include direct and external costs. Example: A new project in a given area will have the effect of reducing water resources available to nearby agricultural land.  The corresponding reduction in agricultural output should be included as a cost of the project.

2. Second step: Evaluating [評估] benefits and costs in dollar terms.

a) Valuing output requires an estimate of the demand for increased production and calculation of consumer surplus.  If the outputs are not sold in market, proxy measures of willingness of beneficiaries to pay for the outputs should be obtained.  Example: benefits of  public health programs can be valued using increased earnings of those whose health is improved by the project.  Education project: increased earnings accruing over time to former students.

b) Outputs and inputs do not reflect true social value as result of the following conditions. Prices must be adjusted to reflect actual marginal social benefits or costs:

(1) outputs are sold in monopolistic markets

(2) external effects are generated by production of the output

(3) distortions due to taxes and subsidies.

3. Third step: Discounting future net benefits

a) The need to discount stems from the existence of positive interest rates in the economy.

b) The choice of discount rate is important because it affects the ranking of alternative projects and the number of projects that can be approved.  

(1) A low discount rate tends to favor projects that yield net benefits further into the future, relative to projects that yield projects that yield current net benefits.  Example: Table 6.1

(2) Higher discount rates result in fewer government projects that can be approved.  A higher rate implies that the opportunity cost of government expenditure, in terms of private satisfaction foregone, is greater. This implies that efficiency requires a relatively smaller amount of government expenditure as % to GDP.

C. Choosing social rate of discount (SRD)

1. SRD should reflect the return that can be earned on resources employed in alternative private use.  It is the opportunity cost of funds invested by the government in a project.  Setting the discount rate equal to social opportunity cost of funds ensures that misallocations do not occur.  The social opportunity cost depends on the rate at which savers and investors are willing to give up either consumption or investment to finance the government project.  A government project must yield at least the rate of interest rate in the economy (e.g., 10%) to justify the transfer of funds from private to government use.

2. Existence of distortions (e.g., tax) affects required rates of return by savers and investors.  Example: a corporate tax of 50% will push up required rate of return from 10% to 20%.  Fig. 6.2

3. An ideal technique for determining SRD is to ascertain the kind of private expenditures that are displaced by a government activity and to use an average of the return on displaced expenditures. (difficult to get)

4. Practical techniques: consider gross return and tax rate; risk and inflation.

D. Weighting and disaggregating net benefits

1. Equity criteria is added to efficiency criteria for cost-benefit analysis.  Weighting benefits and costs by considering impact on income distribution on low-income groups.  

E. Inflation: Two alternative ways:

1. Both benefits and costs could be measured in nominal values, through time, by estimating the inflation rate, over time, and inflating both future benefits and costs accordingly.  Then discount rate is a nominal rate.

2. Future benefits and costs are measured in real terms.  Discount rate is a real rate.

F. Ranking projects

1. Two criteria:  (B-C) and B/C, both are discounted by a discount rate.  Projects are ranked according to the net social gain they provide.  Their MSB>MSC (B-C>0 or B/C>1).  Ensure that inefficient projects will not be considered for approval.

2. Example: highway project.  Fig. 6.3.  Approval of the project moves output closer to the efficient level 

 where MSB=MSC.  Inefficient when MSB<MSC (B-C<0 or B/C<1).

G. ANALYSIS OF GOVERNMENT INVESTMENTS: CBA IN PRACTICE

1. Governments provide a considerable amount of capital in production.  Physical infrastructure includes transportation and environmental capital.  Government-provided infrastructure complements private capital and improves its productivity.  Roads, bridges, airports, air traffic control systems, public ports, dams, water waste treatment, etc.  CBA is useful in providing a framework to help guide economic policy decisions on the mix of investment spending.

2. Water resource development: an irrigation project

a) Direct benefits: the increase in water available to farmers.  To estimate the value of the increased annual flow of water from the project is difficult.  Ideally, the water should be valued on the basis of the price that farmers would be willing to pay for extra unit.  In practice: the amount that farmers would be willing to pay can be substituted by estimating the increase in agricultural yields attributable to the increased water supply; i.e., marginal productivity due to the increased water supply.

b) Indirect benefits: artificial lake for recreational use.

c) Costs: all labor costs, capital required.

(1) Unemployment and labor costs.  Suggest using positive labor costs to reflect opportunity cost.

(2) Indirect costs: lost agricultural output on land that has to be flooded as a result of the project, provided these costs were not already included in the price paid by the government to acquire the land, etc.

d) Cost-benefit tableau (Table 6.2)

3. Transportation: widening an existing highway

a) To evaluate the benefits of adding two more lanes to a highway, an estimate must be made of the demand for travel between the points involved as a function of the average cost per trip.  Major benefits of the improved facility will be the cost saving on existing trips, plus the net benefits on new trips along the improved route.

b) Fig. 6.4.  Demand for travel between the points involved.  Total benefit = reduction of cost of T trips per year to existing users + benefits of additional trips by new users.

c) Costs: labor, capital, land costs for constructing the new facility plus maintenance costs over the life of the project.  Costs also include external costs such as destruction of wilderness or increased pollution due to increased traffic, less any pollution reduction elsewhere if some of the new traffic previously used alternative routes.

4. Health: how is human life valued?

a) Difficult to evaluate for projects involving human resources.  The problem is particularly difficult for health programs of various kinds that involve benefits in the form of a decrease in mortality rates and reduced loss of human welfare due to injury or illness.  

b) Example: a proposed project seeks to reduce accidents by redesigning dangerous superhighway access points.  

(1) The B/C ratio should be compared with other projects, more traditionally thought of as health programs, those with major goals of reducing mortality, injury or disabling illness, such as inoculation programs, research, and various preventive medicine programs.

(2) Primary benefit of redesigning a highway access: a reduction in accidents.  But improved access might increase traffic on the road, which, in turn, will offset some of the benefits by contributing to increased accidents, unless a corresponding decrease occurs in accidents on alternative routes.

(3) After the accident reduction is estimated, the basic problem is to value the lives saved and the reduction in injuries.

(a) Valuing lives saved: according to the discounted present value of future earnings.  Zero value for leisure time.

(b) Some argue that public programs that save lives really produce a public good, which, in turn, reduces the probability that any given individual will die or suffer from accidents.  The benefits of such programs therefore should be measured in terms of the willingness of individuals affected by the programs to pay for such reduction in risks they exposed.  Free-rider problems.  Questionnaires asking how much people willing to pay by tax to fund the highway project.

(4) After valuing, the outcome will be a dollar value of benefits for the project in terms of reduced mortality and disability, which will be estimated over time, adjusting for any changes in traffic flow as a result of the project.

(5) Costs: labor, capital, land, maintenance.

5. THE ROLE OF COST-BENEFIT ANALYSIS IN BUDGETING

a) CBA is a useful tool for evaluating the net benefits of proposed government projects.  But it remains difficult to measure the benefit of government goods and services accurately.  Also difficult to measure social costs.

b) It is also difficult to reduce the problem of selecting government goods and services to a few simple, objective criteria.
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